Chemistry 161a - Fall 2018 Chapter 2 Quiz
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The boron-10 isotope has a mass of 10.0129 amu and boron-11 has amass of 11.00931 amu.
The atomic mass of a sample of boron is 10.811 amu.

Without using a calculator, circle the best estimate among the following for the percentage
abundance of the two isotopes of boron in the natural sample:

a) 40% 1°B and 60% !1B " 3
~b) 80% 9B and 20% !1B ,\gv"g
@ 20% 19B and 80% 11B % ‘X\

- ) iﬁ,ﬂv
d) 60% 19B and 40% 11B | @\\

Explain why you chose your answer in 1-2 sentences.
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The boron-10 isotope has a mass of 10.0129 amu and boron-11 has a mass 0of 11.00931 amu.
The atomic mass of a sample of boron is 10.811 amu.

Without using a calculator, circle the best estimate among the following for the percentage
abundance of the two isotopes of boron in the natural sample:

a) 40% 1°B and 60% !B
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}{ 80% 1°B and 20% 1B T
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(©))20% 1B and 80% 1B ~ o)
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) 60% 1°B and 40% 1B A

Explain why you chose your answer in 1-2 sentences.
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The boron-10 isotope has a mass of 10.0129 amu and boron-11 has a mass of 11.00931 amu.
The atomic mass of a sample of boron is 10.811 amu.

Without using a calculator, circle the best estimate among the following for the percentage
abundance of the two isotopes of boron in the natural sample:

a) 40% 19B and 60% 1B
b) 80% 1°B and 20% 1B
(€)) 20% 1°B and 80% 1B
d) 60% 10B and 40% 11B

Explain why you chose your answer in 1-2 sentences.
The, oY ¢ MAass ot .o somple (S berween 10.0124 ¢ (1.009 21 amu,

but it is much cloger o 100931 than o 10.0129,
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